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: Attempt all questions. Marks allotted to each question are mentioned against them.
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On 31st March 2012, the following balances are taken from the books of Sri Asharfi

Debit Balances 4 Credit Balances 4
Cash Balance 12,400 Capital 20,000
Opening Stock 14,000 Sales 32,000
Purchases 16,000 Discount Received 300
Machinery 4,500 Sundry Creditors 1,400
Sundry Debtors 3,500 Bills Payable 1,100
Wages 500 Purchase Returns 200
Discount 300
Salary 2,200
Advertising 200
Commission 500
General Expenses 300
Bill Receivables 500
Sales Returns 100

55,000 55,600

Prepare Trading and Profit & Loss A/c and Balance Sheet with following adjustments
ending 31st March 2012—

(a) Closing stock ¥ 4,500.

(b) Charge 5% depreciation on Machinery.

(¢c) Provision for bad and doubtful debts on debtors 5%.

(d) Outstanding wages T 50, outstanding salary ¥ 300.

(¢) Prepaid advertising X 50.

(f) Discount ¥ 100 accrued due.
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What is meant by Bank Reconciliation Statement ? What are the reasons for the dif
the balances of Cash Book and Pass Book ? How are these balances reconciled ?
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